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01 A1 =Z9dl 162,500 500,000 337,500
SBAIZAL QLSS A AIHAE I = 18,000
O st+=H J1=2ie H#A (W) 3 = 144,500
300 A&0IM 90, 196 50,833 39,363
304 ASTRE=S 65,884 50,833 15,051
01 HA=2RgE3 54,125 44,237 9,888
O 323 262,320,0002! x 0.085 = 22,298
O 2d= 262,320,000& x0.06785 = 17,799
O E=+gRe3 262,320,0002 x 0.051262 = 13,448
O Ml2a=2E= 262,320,000& x0.00221 = 580
02 [AYLHLEZ 11,759 6,596 5,163
=QHLEE =S 474,793,000& % 0.0238 = 11,301
SO QYR E 11,301,0002 x 0.0405 = 458
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- =AY 3,0008! x 2522 x 2% = 1,512
- DE| 50,0002 x 22 x 12048 = 1,200
720 ZAQAHIS 734,544 764,202 ~29,658
721 XIZO0IXt 734,544 764,202 ~29,658
721-1 XKIZ2O0IXt 734,544 764,202 ~29,658
O st+ZLHIRAL A2 OIXt 727,992 734,544 764,202 29,658
-9 ¥ SEELHAR 270,200
(2) = 270,200
- AT SHEELHF 237,045
(2) = 208,600
(A1) = 28,445
- ot StaEYHH 220,747
(2) = 196,080
(Al) = 24,667
O 2adel® AE22 SX3 0k = 6,552
800 OBl 150,000 110,000 40,000
810 oIl 150,000 110,000 40,000
811 ol 150,000 110,000 40,000
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21 €X 250,000 81,750 168,250
405-01 XHHFSHI 250,000 81,750 168,250
O DISot+EaX HYEX 2AH(A-800M) - 250,000 250,000 81,750 68,250
24 REES 11,703,496 | 7,102,500 | 4,600,996
401-01 Al&] 11,208,496 | 6,704,500 4,503,996
O otet ok+201 ZHl (L=10kn) 5.708,000 | 11,208,496|  6,704,500| 4,503,996
(2) = 4,738,000
(A1) = 970,000
O JIBXP Sh4231 JHI (L=4kn) 430,000
(2) = 301,000
(Al = 129,000
O &7 FBX 5t4+23 ZH| 181,000
(2) = 127,000
(A1) - 54,000
O 2102 G487 (0=180S/2) 1,101,000
(2) - 653,000
() - 98,000
(A1) - 350,000
O QOIS St4E&R (0=1105/2) 109,000
(2) - 76,000
() - 1,000
(A1) - 22,000
O H20t2 S4+T&X (0=2005/2) 1,362,000
(2) = 1,023,000
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O usg 5 ot== &Hl (L=65m) = 35,000
O sZ&E0tg eHeAME B (41r) = 80,000
O 2o stsX HalAle s = 226,49
O BtX2lIMe MASHES (3HL) = 710,000
401-02 ZclHl 435,000 368,000 67,000
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401-03 Al =08l 60,000 30,000 30,000
O ot==2{ &l 50,000 60,000 30,000 30,000
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125 JIAHEX 859,708 525,460 334,248
401-01  Al&H| 859,708 525,460 334,248
O YUY sIeZELHAZ(1HA) 30,648 859,708 525,460 334,248

= AP D] O DhAE WX = 30,648

O SA2 sl Hal® (4H2) 803,376

- 0% M 2422 M4 = 130,000

- =g DA = 509,300

- Z20l1E AHN A = 87,120

- 2% OIMITHAHD] A = 76,956

O AAIEZAHHI (5HA) 859,000,000%2.99% = 25,684
220 DESIAED 3,194,360 | 3,167,560 26,800
226 J|EtDE2XH 3,194,360 3,167,560 26,800
601-01 AlSAte = 3,194,360 | 3,167,560 26,800
S EEEI e 3,144,400 | 3,194,360 3,167,560 26,800

-2 2 ot=3SUXM2E 26,800
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- & E St 1,632,000
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(=) = 1,089,920

(Al = 445,680

O B2l AL SN2 As = 49,960




